_ Complementary Course
PH 5C 05—OFTICS, LASER, ELECTRONICS AND COMMUNICATION

e Mmm;} LIMMUNICATIO
Time - Thees Hours roxiroum + 30 Welightige
1. Answer all twelve questions : Bl

1 Which of the following physical quantity doos not appoar in Fermats prineiple.

{a) Time. (b} Optial path length.

(¢) Area. (d) None of the above.
2. Device which ean't produce two cohurent sources is -

(a) Fresnel's bipriem. (b} Young's double slit.

{c} Polari meter. (d} Lloyd's mirror.

3. Two coharent sources whose intensity ratio is 81 : 1 produce interference fringes: The ratio of
‘maximum intensity to minimum intensity in fringe systom is :

{n) 25/186. (b) 16/25.
(e} 6/5. (d) 66,

4. Two slits are made 1 mm apart ond the scree is placed Im away. What is fringe separation
whon light of wavelength 500 nm is used.

M) 1 mm. (b) 0.5 mm.
Ae) 0.256 mum. (d) None of the abave.
B. The bending of beam of light around corners of obstacles is ealled :
fa) Reflection, (b) Diffraction.
(e} Refraction. (d) Interference.

8. Tha first diffraction minima duc to o single slit diffraction is at 0 = 80° for n light of X = 500 A
The width of tho slit is :
{a) 5105 cm. (b) 1% 10%em,

(e) 2.6 nm. (d) A pm
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diffraction pattern due to a single slit of width 0.25 mm when light of
incident normally on it.

24, Disecuss the construction of Zone plate.
25.  Explain the varions methods of detection of polarized light.
26. Show that the maximum possible efficiency of & full wave rectifier in B1.2%.
27. Explain why CE configurstion is most popular in amplifier agreuits ?
28. Discuss the merits and demerits of FM over AM.
(5 » 2= 10 weightage)
V. Answer any fiwoo questions, each question earries 4 weightage :

29. Give the theory of the Newton's rings. Explain how rings can be used to find the refractive
index of liguid 7

80, Explain the main difference between an amplifier and an oscillator. Draw the circuit dingram
of Colpitts oscillator, Explain briefly how it operates.

81. Give the important components of a fibre optic system with specific use of each component.
Give the reasons of sttenuntion and distortion of light through the optical fibre.

(2 % 4 = B woightage)
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